(1) Assume McCartney’s signed purchase agreement is an offer.  Did Sowle accept it?

(a) Under 2-207(1) an expression of acceptance operates as

an acceptance even if it contains additional terms, unless the 

acceptance is made expressly conditional on assent to the 

additional terms.  







  5/___
(b) Sowle’s singing and returning the purchase order plus note

was an expression of acceptance.




  5/___


Intent to buy





  2/___


Language in note





  2/___
Nice to reach an agreement.  

Great that we have a deal!
(c) It contains additional terms but is not expressly conditional

on assent to those terms.



No “expressly conditional” language in note.

  2/___
So the expression of acceptance operates as

an acceptance.  





  

2/___
(2) (a) Is the oral agreement concerning the red, white, and blue shoe strings unenforceable unenforceable under the statute of frauds?  (There is no need to state the Statute of Frauds in full; just the relevant part).  

(a) Under the statute of frauds, agreements for the sale 

of goods over $500 must be in writing.




  3/___
(b) The sale price here is $499.  Hence, the agreement

need not be in writing.






  2/___
(2) (b) Assume the exchange of documents between McCartney and Sowle creates an enforceable contract for the delivery of 500 soles.  Make the strongest argument you can that the Parol Evidence Rule does not render their oral agreement concerning the red, white, and blue shoe strings unenforceable. 

(a) Under the Parol Evidence rule, the oral agreement is 
unenforceable if it contradicts the written agreement, or

the written agreement is a complete integration and the 

oral agreement is in its scope.  





  5/___
(b) A commonsense contradiction is a contradiction that 

cannot be explained away. 





  3/___

There is no commonsense contradiction. The two 

agreements are simply silent about the 

other’s subject matter.





  2/___
(c) Is the written agreement a complete integration?


A complete integration is a complete and 


exclusive statement of the parties obligations.
 
  5/___


The parties so intend.







Entire agreement clause



  2/___



Discussion





  3/___
(d) Is the side agreement in its scope?

Normal inclusion test.





  2/___

Would not normally include.  




  5/___

So not in scope.






  3/___
(e) So enforceable.  






  3/___
(3) McCartney claims that he is excused from delivering the 500 rubber soles to Sowle.  What is the best argument that McCartney is wrong?  

(a) Impracticablity and frustration do not apply 

since the event that caused the loss occurred 

before the contract was formed. 




 3/___
(b) M is excused under mistake doctrine if the parties were 
Mutually mistaken about a basic assumption of the contract, 
and M can show that he ought not to bear the loss.  

5/___


Mutual mistake






2/___


Basic assumption






2/___

But M ought to bear the loss




5/___
(4) Did Sowle breach when he failed to make the partial payment due on October 20?  Note:  there is no need to address damages if you conclude that Sowle did breach.
(a) Sowle breached unless the uncertainty 
about M’s performance excused him from his 
obligation to pay on October 20.    




5/___
(b) UCC 2-609







5/___
(c ) Sowle had


reasonable insecurity about performance


2/___

he requested assurance in writing



2/___

he received adequate assurance in writing


4/___
(d) So he was not excused and breached.



2/___

(5) What are Sowle’s damages for McCartney’s failure to deliver the 500 rubber soles?  Assume Sowle sustained no consequential damages as a result of McCartney’s breach.

(a) Sowle is entitled to 2-712 damages.

CP – KP + ID + CD – ES






  5/___
(b) CP – KP = $0; CD = $0; ID = $10; ES = $200.


  5/___
(c) M owes Sowle no damages.





  5/___
(6)  Did McCartney have a right to cure by delivering the red, white, and blue shoes strings on November 8?

(a) 2-508(2)








  5/___
(b) 
reasonable grounds to think non-conforming 
delivery acceptable






  2/___

seasonably notified






  2/___

reasonable time






  2/___
(c) right to cure







  2/___
(7) What damages does McCartney owe Sowle for his failure to delivery the red, white, and blue shoes strings on November 1?  Treat the McCartney’s delivery of the red, white, and blue shoes strings on November 8 as the equivalent of a reasonable cover purchase by Sowle.  

(a) Sowle is entitled to 2-712 damages.

CP – KP + ID + CD – ES






5/___
(b) CP – KP = $0; 
CD = 30 x (2 x old market price).  

  


5/___
Provable with reasonable certainty




2/___
